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[data] := "hello"
[flag] := True

a := [flag]
if a:   

b := [data]
print(a, b)   

[data] = b = null
[flag] = a = False

...what are the possible outputs?

Sequentially Consistent outcomes:

a = True, b = "hello" a = True, b = "hello" a = False, b = null 

a = True, b = "hello" 

Weak outcome is also observable!

a = True, b = null

DANGER EXPERT ZONE DANGER EXPERT ZONE DANGER EXPERT ZONE DANGER EXPERT ZONE DANGER EXPERT ZONE DANGER EXPERT ZONE DANGER

a := [x]
if a:   

[y] := a

b := [y]
if b:   

[x] := b

[x] = [y] = a = b = 0

should be irreflexive!

Two events are racy iff:       
(1) They access the same location       
(2) At least one of them is Write        
(3) They're not related with hb

(Race)

(DRF-SC)

All racy events in all SC-consistent executions have 
SC access modifiers => No weak behaviors

a = 42, b = 42 a = 1, b = 1 

a = 0, b = 0 


